Quote

Creamery

Landscape Installation Quote

January 28, 2021



landscape architecture ecological design construction

Construction
Ambler Design, LLC
PO Box 1492
Stowe, VT 05672
www.amblerdesign.com
email: info@amblerdesign.com
ph. 802.253.4536

Description	Size	Qty.	Unit	Unit Price	Cost
PHASE 2					
A Mobilization and Administration					
Site supervision		16 hours		\$95.00	\$1,520.00
Administration		4 hours		\$65.00	\$260.00
Delivery of equipment		1 lump sum		\$800.00	\$800.00
				Subtotal	\$2,580.00
B Terraces					
- Earthwork to create level outdoor sitting area at w	est side of	f building			
Excavator and Operator		25 h	ours	\$110.00	\$2,750.00
				Subtotal	\$2,750.00
C Pathways					
Gravel Path at west side of building (120' long 5' wide)		1 ls	S	\$4,000.00	\$4,000.00
~~ ,				Subtotal	\$4,000.00
D River Stone Drip Edge and Drainage					
4" Steel Edging		100 lf	finstalled	\$16.00	\$1,600.00
River Stone		300 s	f installed	\$5.00	\$1,500.00
Delivery		2 d	lelivery	\$75.00	\$150.00
				Subtotal	\$3,250.00
E Boulder Wall at Parking Lot					
Retaining estimated at approx 800 face feet of bou	lder retaini	ng			
Tandem Loads of Boulders		12 e	a	\$2,000.00	\$24,000.00
Sand Fill		32 c	y installed	\$45.00	\$1,440.00
1.5" Crushed Rock backing and base		60 c		\$43.00	\$2,580.00
Geo Fabric		1 ls	S	\$550.00	\$550.00
Drain Pipe		200 ft	t installed	\$3.00	\$600.00
Volvo 140 and Operator		100 h	nrs	\$160.00	\$16,000.00

Description	Size	Qty.	Unit	Unit Price	Cost
Bobcat		14 days		\$350.00	\$4,900.00
Foreman		100 hrs		\$60.00	\$6,000.00
Labor 1		100 hrs		\$48.00	\$4,800.00
Supervision		10 hrs		\$95.00	\$950.00
Delivery of materials		6 de	liveries	\$75.00	\$450.00
				Subtotal	\$62,270.00
F Landscape Planting					
Allowance for work to be discussed.					
Autumn Blaze Maple	3" cal.	4 ea	installed	\$1,500.00	\$6,000.00
Arborvitae	5-6' Ht.	3 ea	installed	\$300.00	\$900.00
Serviceberry	7-8' Ht.	7 ea	installed	\$350.00	\$2,450.00
Hydrangea	3-5 gallon	10 ea installed		\$90.00	\$900.00
Perennial allowance	1 gallon	100 ea installed		\$18.00	\$1,800.00
Compost/soil mix	10"	16 cy	installed	\$90.00	\$1,440.00
Bark mulch	2"	5 cy	installed	\$80.00	\$400.00
Organic fertilizer		2 ea	installed	\$40.00	\$80.00
Delivery of materials		5 de	liveries	\$75.00	\$375.00
				Subtotal	\$14,345.00
G Lawn and Finish Grading					
Cover approximately 5500 square feet with 4" top	soil.				
Topsoil		70 yd:	s	\$45.00	\$3,150.00
Machine to establish final grades		16 hrs	3	\$150.00	\$2,400.00
Bobcat and Operator		6 hrs	8	\$100.00	\$600.00
Lawn areas grading, soil preparation, and finish work to include seed, mulch and fertilizer		5500 sf i	installed	\$0.50	\$2,750.00
Delivery of materials		1 de	livery	\$75.00	\$75.00
				Subtotal	\$8,975.00

PHASE 2 Total \$98,170.00

Description	Size	Qty. Unit	Unit Price	Cost
PHASE 3				
A Mobilization and Administration				
Site supervision		10 hours	\$95.00	\$950.00
Administration		3 hours	\$65.00	\$195.00
Delivery of equipment		1 lump sum	\$800.00	\$800.00
			Subtotal	\$1,945.00
B Pathways				
Gravel Path at east side of parking lot (280' long 5' wide)		1 ls	\$6,000.00	\$6,000.00
,			Subtotal	\$6,000.00
C River Stone Drip Edge and Drainage				
4" Steel Edging		50 If installed	\$16.00	\$800.00
River Stone		150 sf installed	\$5.00	\$750.00
Delivery		2 delivery	\$75.00	\$150.00
			Subtotal	\$1,700.00
D Landscape Planting				
Allowance for work to be discussed.				
Autumn Blaze Maple	3" cal.	7 ea installed	\$1,500.00	\$10,500.00
Serviceberry	7-8' Ht.	7 ea installed	\$400.00	\$2,800.00
Hydrangea	3-5 gallon	9 ea installed	\$90.00	\$810.00
Perennial allowance	1 gallon	30 ea installed	\$18.00	\$540.00
Compost/soil mix	10"	12 cy installed	\$90.00	\$1,080.00
Bark mulch	2"	4 cy installed	\$80.00	\$320.00
Organic fertilizer		2 ea installed	\$40.00	\$80.00
Delivery of materials		4 deliveries	\$75.00	\$300.00
			Subtotal	\$16,430.00
E Lawn and Finish Grading				
Cover approximately 4000 square feet with 4" top	neoil			
Topsoil)30II.	48 yds	\$45.00	\$2,160.00
Machine to establish final grades		12 hrs	\$150.00	\$1,800.00
Bobcat and Operator		4 hrs	\$100.00	\$400.00
Lawn areas grading, soil preparation, and finish		4000 sf installed		
work to include seed, mulch and fertilizer			\$0.50	\$2,000.00
Delivery of materials		1 delivery	\$75.00	\$75.00
			Subtotal	\$6,435.00

PHASE 3 Total \$32,510.00

Description	Size	Qty. Unit	Unit Price	Cost
PHASE 4		·		
A Mobilization and Administration				
Site supervision		10 hours	\$95.00	\$950.00
Administration		3 hours	\$65.00	\$195.00
Delivery of equipment		1 lump sum	\$800.00	\$800.00
			Subtotal	\$1,945.00
B River Stone Drip Edge and Drainage				
4" Steel Edging		50 If installed	\$16.00	\$800.00
River Stone		150 sf installed	\$5.00	\$750.00
Delivery		2 delivery	\$75.00	\$150.00
			Subtotal	\$1,700.00
C Landscape Planting				
Allowance for work to be discussed.				
Autumn Blaze Maple	3" cal.	3 ea installed	\$1,500.00	\$4,500.00
Serviceberry	7-8' Ht.	7 ea installed	\$400.00	\$2,800.00
Hydrangea	3-5 gallon	10 ea installed	\$90.00	\$900.00
Perennial allowance	1 gallon	50 ea installed	\$18.00	\$900.00
Compost/soil mix	10"	12 cy installed	\$90.00	\$1,080.00
Bark mulch	2"	4 cy installed	\$80.00	\$320.00
Organic fertilizer		2 ea installed	\$40.00	\$80.00
Delivery of materials		4 deliveries	\$75.00	\$300.00
			Subtotal	\$10,880.00
D Lawn and Finish Grading				
Cover approximately 4000 square feet with 4" is	tonsoil			
Topsoil	iopson.	48 yds	\$45.00	\$2,160.00
Machine to establish final grades		12 hrs	\$150.00	\$1,800.00
Bobcat and Operator		4 hrs	\$100.00	\$400.00
Lawn areas grading, soil preparation, and finish	h		·	
work to include seed, mulch and fertilizer		4000 sf installed	\$0.50	\$2,000.00
Delivery of materials		1 delivery	\$75.00	\$75.00
			Subtotal	\$6,435.00

PHASE 4 Total \$20,960.00

PROJECT TOTAL \$151,640.00